
1 Definition of the lifting sets used in Theorem 5

In describing the lifting coefficients we need the following definitions.

Definition 1. • For i ∈ N+
1 ∩N

+
2 and bi < d let k1i be the index with the property µk1

i
≤ bi < µk1

i+1.

• For i ∈ N+
1 ∩N

+
2 we define k2i as the index with the property µk2

i
≤ bi + vi < µk2

i+1 if bi + vi < d and

k2i = r if bi + vi ≥ d.

• For i ∈ N−
1 ∩N

+
2 let k2i be the index with the property µk2

i
≤ bi < µk2

i+1 if bi < d and k2i = r if bi > d.

• For i ∈ N−
1 ∩N

+
2 and d > bi−vi ≥ 0 we define k1i as the index with the property µk1

i
≤ bi−vi < µk1

i+1.

• For i ∈ N−
1 ∩ N

+
2 and bi − vi < 0 we define k1i as the index with the property µk1

i
− tid ≤ bi − vi <

µk1
i+1 − tid for a uniquely defined integer ti ≥ 1.

1. i ∈ N+
1 ∩N

+
2 :

Ji =

{(
g(µj+1)− g(µj)

µj+1 − µj
, g(µj+1)− g(µj+1)− g(µj)

µj+1 − µj
(µj+1 − bi)

)
: k1i < j < k2i

}
⋃{(

g(µk1
i+1)− g(bi)

µk1
i+1 − bi

, g(bi)

)}
⋃{(

g(bi + vi)− g(µk2
i
)

bi + vi − µk2
i

, g(bi + vi)−
g(bi + vi)− g(µk2

i
)

bi + vi − µk2
i

vi

)}

if bi < d and Ji = {(0, 0)} if bi ≥ d.

2. i ∈ N−
1 ∩N

+
2 and bi − vi ≥ 0 :

Ji =

{(
−g(µj+1)− g(µj)

µj+1 − µj
, g(µj+1)− g(µj+1)− g(µj)

µj+1 − µj
(µj+1 + bi)

)
: k1i < j < k2i

}
⋃{(

−
g(µk1

i+1)− g(bi − vi)
µk1

i+1 − bi + vi
, g(bi − vi) +

g(µk1
i+1)− g(bi − vi)
µk1

i+1 − bi + vi
(vi − 2bi)

)}
⋃{(

−
g(bi)− g(µk2

i
)

bi − µk2
i

, g(bi)− 2
g(bi)− g(µk2

i
)

bi − µk2
i

bi

)}

if bi − vi < d and Ji = {(0, 0)} if bi − vi ≥ d.

3. i ∈ N−
1 ∩N

+
2 and bi − vi < 0 : Let s be such that

g(µs)− g(µs−1)

µs − µs−1
≤ r

d
<
g(µs+1)− g(µs)

µs+1 − µs
.

We have 4 subcases.

(a) Let first bi − vi ≤ µs − d and bi ≥ µs.
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Ji =

{(
−
g(µk1

i+1 − tid)− g(bi − vi)
µk1

i+1 − tid− bi + vi
, g(bi − vi) +

g(µk1
i+1 − tid)− g(bi − vi)
µk1

i+1 − tid− bi + vi
vi

)}
⋃{(

−g(µj+1 − tid)− g(µj − tid)

µj+1 − µj
, g(µj − tid)

+
g(µj+1 − tid)− g(µj − tid)

µj+1 − µj
(bi − µj + tid)

)
: k1i + 1 ≤ j ≤ s

}
⋃{(

−g(µj+1)− g(µj)

µj+1 − µj
, g(µj) +

g(µj+1)− g(µj)

µj+1 − µj
(bi − µj)

)
: s < j ≤ k2i

}
⋃{(

−
g(bi)− g(µk2

i
)

bi − µk2
i

, g(bi)

)}⋃{( r
d
, g(µs)−

r

d
µs

)}
(b) Let now bi − vi > µs − d and bi > µs. Let also q be such that

g(νq)− g(bi − vi)
νq − bi + vi

≤ g(νj)− g(bi − vi)
νj − bi + vi

,

where νj ∈ {µk1
i+1 − d, . . . , µr−1 − d} ∪ {µ1, . . . , µs}.

Ji =

{(
−g(νq)− g(bi − vi)

νq − bi + vi
, g(bi − vi) +

g(νq)− g(bi − vi)
νq − bi + vi

vi

)}
⋃{(

−g(µj+1)− g(µj)

µj+1 − µj
, g(µj) +

g(µj+1)− g(µj)

µj+1 − µj
(bi − µj)

)
: s < j ≤ k2i

}
⋃{(

−
g(bi)− g(µk2

i
)

bi − µk2
i

, g(bi)

)}
⋃{(

−g(µj+1)− g(µj)

µj+1 − µj
, g(µj) +

g(µj+1)− g(µj)

µj+1 − µj
(bi − µj) : 0 < j < s,

g(µk1
i+1 − d) ≥ g(µj) +

g(µj+1)− g(µj)

µj+1 − µj
(µk1

i+1 − d− µj),

g(bi − vi) ≥ g(µj) +
g(µj+1)− g(µj)

µj+1 − µj
(bi − vi − µj)

)}
(c) Let bi − vi ≤ µs − d and bi ≤ µs. Let also q be such that

g(bi)− g(νq)

bi − νq
≥ g(bi)− g(νj)

bi − νj
,

where νj ∈ {µs − d, . . . , µr−1 − d} ∪ {µ1, . . . , µk2
i
}.
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Ji =

{(
−
g(µk1

i+1 − tid)− g(bi − vi)
µk1

i+1 − tid− bi + vi
, g(bi − vi) +

g(µk1
i+1 − tid)− g(bi − vi)
µk1

i+1 − tid− bi + vi
vi

)}
⋃{(

−g(µj+1 − tid)− g(µj − tid)

µj+1 − µj
, g(µj − tid)

+
g(µj+1 − tid)− g(µj − tid)

µj+1 − µj
(bi − µj + tid)

)
: k1i + 1 ≤ j ≤ s

}
⋃{(

−g(µj+1 − d)− g(µj − d)

µj+1 − µj
, g(µj − d)

+
g(µj+1 − d)− g(µj − d)

µj+1 − µj
(bi − µj + d)

)
: s < j < r − 1,

g(µk2
i
) ≥ g(µj − d) +

g(µj+1 − d)− g(µj − d)

µj+1 − µj
(µk2

i
− µj + d),

g(bi) ≥ g(µj − d) +
g(µj+1 − d)− g(µj − d)

µj+1 − µj
(bi − µj + d)

)}
⋃{(

−g(bi)− g(νq)

bi − νq
, g(bi)

)}
(d) Let bi − vi > µs − d and bi < µs. Let also q be such that

g(νq)− g(bi − vi)
νq − bi + vi

≤ g(νj)− g(bi − vi)
νj − bi + vi

,

where νj ∈ {µk1
i+1 − d, . . . , µr−1 − d} ∪ {µ1, . . . , µk2

i
} ∪ {bi} and let p be such that

g(bi)− g(νp)

bi − νp
≥ g(bi)− g(νj)

bi − νj
,

where νj ∈ {bi − vi} ∪ {µk1
i+1 − d, . . . , µr−1 − d} ∪ {µ1, . . . , µk2

i
}.

Ji =

{(
−g(νq)− g(bi − vi)

νq − bi + vi
, g(bi − vi) +

g(νq)− g(bi − vi)
νq − bi + vi

vi

)}
⋃{(

−g(µj+1 − d)− g(µj − d)

µj+1 − µj
, g(µj − d)

+
g(µj+1 − d)− g(µj − d)

µj+1 − µj
(bi − µj + d)

)
: k1i + 1 < j < r − 1,

g(µk2
i
) > g(µj − d) +

g(µj+1 − d)− g(µj − d)

µj+1 − µj
(µk2

i
− µj + d),

g(bi) > g(µj − d) +
g(µj+1 − d)− g(µj − d)

µj+1 − µj
(bi − µj + d)

)}
⋃{(

−g(µj+1)− g(µj)

µj+1 − µj
, g(µj) +

g(µj+1)− g(µj)

µj+1 − µj
(bi − µj) : 0 < j < k2i ,

g(µk1
i+1 − d) ≥ g(µj) +

g(µj+1)− g(µj)

µj+1 − µj
(µk1

i+1 − d− µj),

g(bi − vi) ≥ g(µj) +
g(µj+1)− g(µj)

µj+1 − µj
(bi − vi − µj)

)}
⋃{(

−g(bi)− g(νp)

bi − νp
, g(bi)

)}
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